REDROCK

TAILGATE HINGE FLAG POLE

BRACKET

(2021-2023+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS

(2) Tailgate Mounting Bracket Blocks
(1) Flag Holder Upper Mounting Bracket
with Antenna Mount

(1) Flag Holder Lower Mounting Bracket
(2) M8 Allen Bolts

(4) M6 Allen Bolts

(1) 5mm Allen Key

(1) 4mm Allen Key

TOOLS REQUIRED

T-45 Torx Socket
Ratchet
4mm, 5mm Allen Key (Provided)

SKU # FB26839
Edited: 02/15/2023



REDROCK

STEP1

Remove (2) T-45 Torx bolts from the vehicle tailgate.

Note: Depending on preference, the flag pole can be mounted onto the inner or outer bolts.

STEP 2

Align the (2) tailgate mounting bracket blocks to the vehicle bolt holes, and secure each bracket
using (1) M8 Allen bolt. Ensure the brackets are straight, and tighten into place.



REDROCK

STEP 3

Align the flag pole with the upper and lower mounting brackets installed, and secure the brackets
to the bracket blocks using (2) M6 Allen bolts per bracket.

Note: Ensure the antenna bracket it at the top of the flag pole.

STEP 4

Insert the desired flag, and tighten the top hand screw to secure into place.

Installation is now complete.



	FB26839 - RedRock - Tailgate Hinge Flag Pole Bracket (21+ Bronco)-01
	FB26839 - RedRock - Tailgate Hinge Flag Pole Bracket (21+ Bronco)-02
	FB26839 - RedRock - Tailgate Hinge Flag Pole Bracket (21+ Bronco)-03

